
 TE350−7A

545557570

λ /nm

u

logarithmic Ua, Uo-data
Ua = ( Lo • Mo )0,5

log Ua = ( logLo+ logMo)/2
log [ Ua, Lo, Mo, Uo ]

logUo = −0,35[uλ−u557]2

logLo = −0,35[uλ−u545]2

logMo = −0,35[uλ−u570]2

Adaptation: λLM=557
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logarithmic Uo-saturation
Ua = ( Lo • Mo )0,5

log Ua = ( logLo+ logMo)/2
log [Lo/Uo, Mo/Uo, Ua/Uo ]

logUo = −0,35[uλ−u557]2

logLo = −0,35[uλ−u545]2

logMo = −0,35[uλ−u570]2
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logarithmic Xa, Uo-data
Xa = ( Mo • Go )0,5

log Xa = ( logMo+ logGo)/2
log [ Xa, Mo, Go, Uo ]

logUo = −0,35[uλ−u557]2

logMo = −0,35[uλ−u520]2

logGo = −0,35[uλ−u545]2

Adaptation: λMG=532
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logarithmic Uo-saturation
Xa = ( Mo • Go )0,5

log Xa = ( logMo+ logGo)/2
log [Mo/Uo, Go/Uo, Xa/Uo ]

logUo = −0,35[uλ−u557]2

logMo = −0,35[uλ−u520]2

logGo = −0,35[uλ−u545]2

Adaptation: λMG=532
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logarithmic Ya, Uo-data
Ya = ( Go • Co )0,5

log Ya = ( logGo+ logCo)/2
log [ Ya, Go, Co, Uo ]

logUo = −0,35[uλ−u557]2

logGo = −0,35[uλ−u495]2

logCo = −0,35[uλ−u520]2

Adaptation: λGC=507
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logarithmic Uo-saturation
Ya = ( Go • Co )0,5

log Ya = ( logGo+ logCo)/2
log [Go/Uo, Co/Uo, Ya/Uo ]

logUo = −0,35[uλ−u557]2

logGo = −0,35[uλ−u495]2

logCo = −0,35[uλ−u520]2

Adaptation: λGC=507

    −3,1 −1,1   0,9   2,9   0,0

555400 500 600 700
−1

  

  0

  

  1 Threshold
Sa=0,0



470482495

λ /nm

u

logarithmic Za, Uo-data
Za = ( Co • Bo )0,5

log Za = ( logCo+ logBo)/2
log [ Za, Co, Bo, Uo ]

logUo = −0,35[uλ−u557]2

logCo = −0,35[uλ−u470]2

logBo = −0,35[uλ−u495]2

Adaptation: λCB=482
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logarithmic Uo-saturation
Za = ( Co • Bo )0,5

log Za = ( logCo+ logBo)/2
log [Co/Uo, Bo/Uo, Za/Uo ]

logUo = −0,35[uλ−u557]2

logCo = −0,35[uλ−u470]2

logBo = −0,35[uλ−u495]2

Adaptation: λCB=482
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logarithmic Ua, Uo-data
Ua = ( Lo • Mo )0,5

log Ua = ( logLo+ logMo)/2
log [ Ua, Lo, Mo, Uo ]

logUo = −0,35[uλ−u557]2

logLo = −0,35[uλ−u545]2

logMo = −0,35[uλ−u570]2

Adaptation: λLM=557
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logarithmic Uo-saturation
Ua = ( Lo • Mo )0,5

log Ua = ( logLo+ logMo)/2
log [Lo/Uo, Mo/Uo, Ua/Uo ]

logUo = −0,35[uλ−u557]2

logLo = −0,35[uλ−u545]2

logMo = −0,35[uλ−u570]2

Adaptation: λLM=557
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Sa=0,025
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520532545
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logarithmic Xa, Uo-data
Xa = ( Mo • Go )0,5

log Xa = ( logMo+ logGo)/2
log [ Xa, Mo, Go, Uo ]

logUo = −0,35[uλ−u557]2

logMo = −0,35[uλ−u520]2

logGo = −0,35[uλ−u545]2

Adaptation: λMG=532
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λ /nm

u

logarithmic Uo-saturation
Xa = ( Mo • Go )0,5

log Xa = ( logMo+ logGo)/2
log [Mo/Uo, Go/Uo, Xa/Uo ]

logUo = −0,35[uλ−u557]2

logMo = −0,35[uλ−u520]2

logGo = −0,35[uλ−u545]2

Adaptation: λMG=532
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495507520
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logarithmic Ya, Uo-data
Ya = ( Go • Co )0,5

log Ya = ( logGo+ logCo)/2
log [ Ya, Go, Co, Uo ]

logUo = −0,35[uλ−u557]2

logGo = −0,35[uλ−u495]2

logCo = −0,35[uλ−u520]2

Adaptation: λGC=507
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logarithmic Uo-saturation
Ya = ( Go • Co )0,5

log Ya = ( logGo+ logCo)/2
log [Go/Uo, Co/Uo, Ya/Uo ]

logUo = −0,35[uλ−u557]2

logGo = −0,35[uλ−u495]2

logCo = −0,35[uλ−u520]2

Adaptation: λGC=507
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Sa=0,025
log Sa=−1,6



470482495
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logarithmic Za, Uo-data
Za = ( Co • Bo )0,5

log Za = ( logCo+ logBo)/2
log [ Za, Co, Bo, Uo ]

logUo = −0,35[uλ−u557]2

logCo = −0,35[uλ−u470]2

logBo = −0,35[uλ−u495]2

Adaptation: λCB=482
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logarithmic Uo-saturation
Za = ( Co • Bo )0,5

log Za = ( logCo+ logBo)/2
log [Co/Uo, Bo/Uo, Za/Uo ]

logUo = −0,35[uλ−u557]2

logCo = −0,35[uλ−u470]2

logBo = −0,35[uλ−u495]2

Adaptation: λCB=482
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